EARAROBREBRT —5 XN—ZXBISH—F

2022678568 (K) 40)1IIE3H

L USR—M C3——=

\(9&1@1 n ‘[%EH%F&] | & 1000 =

[AE%] 1 7% :800,000F  27&:320,000 M  337%&:200,000H” ~ 43:120,000H . 5 7&:80,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
oy /1|52 : -3-2- - HEEZ (11iE)
1 7| ZURIIL R 4% 5 Bl 1.(3_2).6 3-3-2-2 | 40.5 2 (4_423) e
Rib—trya—sy B:RU—Fa1—h BER%u%
SHEES 132, -1-1- . - HEE— (1)
7 3| AN—hIILY uo %¢53.0 1(33/24)8 B S ’ 3_199) IITR@
RiFVyvHY/FEF B:FFUVIT—LR EBANLEYKS
357 it 4 | SERH 1:33.1 11-11-11-6 | 39.6 | — 12 | 430 |EEER 0
38| FLYTFUR 54.0 a1/2 (-2 | AL—EB )
RiTFAIWNTPFH— B:NFRY MEZ Y R
5 4 5 | HFEY 1:33.1 4-4-4-3 | 40.8| — 1 501 | mAE— ()
4|5|5|O2LEL 5.0 e o |EREE
R:I—VRPUI—L B:I7ZIBvYH #HET7—L
3 . s 4 | EWEEER 1:33.2 6-6-4-5 | 40.7 | — 8 | 462 |AHEHAER (1)
5|8[12| FAT—h 5.0 ) (3 |EBEE
R:ISVFURR §:ODI—IXFVUR BRI
S — N [EETEIN : -4-4- - ELARIZ (11IE)
6111 vvr=vo7z s 5 = 1.(313).4 4-4-4-3 | 41.5 10 (4:557) 503
RIAZHAT—RUTA B:UFPILTF—RA K 75 Riis
3 45 | IS 1:33.7 8-9-10-8 | 40.5| — 6 | 492 |PEEEE (1)
] 2| e e a7 o) |
RiFvyvH/ 2+ B:yzUaAR/NY HBEIT7—LA
S — ) S o4 | EERE 1:33.7 6-7-8-6 [40.9| — | 9 | 426 |/\AEE (&)
8l7|9| EFZ=VIRU—L 54,0 F99) (5 |BEPEm &
R:RIT« B:0095F— RNERUS
- N BIH . _11-19- _ JURIZ (11iE)
917]10| LHYTA—ILR o7 T 1.(324).1 11-11-12-11| 40.4 7 (5+o13) IEL
RiN«A40O B:ATIRIV—=)L paslaie]
- S~ O s 4 | BEHRER 1:34.4 8-8-7-10 |41.6| — 4 543 | EEZE (1)
10 4 FTA—T0S5VIN 56.0 a1/ Ca B
RYYRI( TSR B:EIYSH-F«7 HEARTw b
=W 3 it 5 | UMEEE 1:35.4 2-2-3-8 | 43.7| - 5 431 | REIE— (1)
1Mls5l6 | =Ty¥—LY 54.0 ) (3 | EHER )
R:AV/RSAY B:N\wE-ISVY =IR%US
t 6 | MESE 1:35.8 8-9-9-11 |42.6| — 11 | 441 | SEE— (&)
1208 8 | L9AKL—h £ 50.0 ) “11) " J P NiH
RibhoHIO0—U— B:FUFVAITA K ikt
@ 11— —®BIEfI
13—7— 3,6,7,(1,5),(9,12), (2,4,8),(10,11)
20—F— 3,6,7,(1,5),12,9,4,(2,8),(10,11)
30—7— 3,7,6,(1,5,12) ,4,9,8,2,11,10
43— — 3,7,(1,5),12,(9,11),(2,6) .4, (8,10)
o ILRE
B B 7 410M4 JA R 3-7 510 % 5E 3-6 1,170 3EE 3-7-1 31,870M4
7B B 7 170 7-11 5,420 B 6-3 1,890 3EH 7-3-11 112,050
3 1904 3-1 5,370 /B & 3-7 1,030
I 1,580 =51 7-3 2,100

ABIC OV TRUTEREERRODDZE. THRIIZEL.




